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Sample Multiple Choice Question
	Question:
	In a positive cooperative binding protein binding two ligands, what differs in binding after the first ligand binds?  

	Option
	Answer
(Please )
	Response/Explanation to be displayed to facilitate student learning

	A
	The second ligand has the same affinity as the first ligand.
	
	Incorrect, if the second has same affinity then there is no cooperativity in ligand binding.

	B
	The second ligand has a higher affinity than the first ligand. 
	
	Correct, structural changes lead to higher affinity.

	C
	The second ligand has a lower affinity than the first ligand 
	
	Incorrect, this is negative cooperativity.



Multiple Choice Question 1
	Question:
	

	Option
	Answer
(Please )
	Response/Explanation to be displayed to facilitate student learning

	A
	
	
	

	B
	
	
	

	C
	
	
	



Multiple Choice Question 2
	Question:
	

	Option
	Answer
(Please )
	Response/Explanation to be displayed to facilitate student learning

	A
	
	
	

	B
	
	
	

	C
	
	
	




Multiple Choice Question 3
	Question:
	

	Option
	Answer
(Please )
	Response/Explanation to be displayed to facilitate student learning

	A
	
	
	

	B
	
	
	

	C
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